
CF

F

A

A

F
C

B

C D E

GF H I J

BA

C

H

H
G

G

E

E

D

D

Poten 
rechts/links

Rug geoliede 
eiken balken - 

3 stuks

Deuvel Ø6 - 
30mm - 6 stuks

Gat dopje - 
6 stuks

Viltjes -
4 stuks

Schroef DIN 7991
M6x40 mm -

6 stuks

Schroef DIN 7991
M8x40 mm -

4 stuks

Ring DIN 9021
M8 -

4 stuks

Inbussleutel 
L4 - 

1 stuk

Inbussleutel 
L5 -

1 stuk

1 2

3 4

HANS FAUTEUIL HANDLEIDING



CF

F

A

A

F
C

B

C D E

GF H I J

BA

C

H

H
G

G

E

E

D

D

LEG right/left Back oiled oak 
bars - 3 pcs

Dovel Ø6 - 
30mm - 6 pcs

Hole cover - 
6 pcs

Leg pad -
4 pcs

Screw DIN 7991
M6x40 mm -

6 pcs

Screw DIN 7991
M8x40 mm -

4 pcs

Washer DIN 9021
M8 -
4 pcs

KEY L4 - 1 pcs KEY L5 - 1 pcs

1 2

3 4

HANS ARMCHAIR MANUAL


